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17. The centre of qi._.i“-h‘ is at (2, 0). It one end of a diameter is at (0, 0 o
then the other u'ld is at | i
(4, 0) (c) (~2,0) (d) (~6,0)

(a) (0,0) Al

graphs of two linear equations are

18. In the given figure _ _
shown. The .Iﬂu of these lincar equations is
AY

at with unique solution.

(a) consiste

(b) consistent with infinitely many solutions.

(c) inconsistent:

inconsistent but can be made consisk

(d)
by extending these lines.

Directions :
[n Q. No. 19 and 2

statement of Reason (R). Choose the ol

(a)

(b) Both,Assertion (A) and B
not arrect explanation foF

(¢) Asétion (A) is true but Ret
(d) Asséion (A) is false but

g, Assertili(A): The tangents
of a circle, are pag

ReasolR):  Diameter of a circi
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SECTION-B

) gstions of 2 >
ction consists of 8 que marks each

I'his s¢
y1.~ Solve the following gystem of linear equation
\ . § and B¢ gy = 15 and verify your answer y i
2y 1n & pack of 52 pli‘l}'i"}.'- cards one card is lost. From the remaining

cards, a card 18 draw? .“,‘ random. Find the probability that the drawn

card 18 queéen of hearts if the lost card is a black card y
»3. (A) Evaluate: 3‘5 cos 45" sin 30" 4 -"*J;l cos 30° 2
< OR

B 1fA=60andB " 30%, verify that :

sin (AT B)= simAcosB+cosAsinB

74 ;«l 11-“\ given ﬁgu-reo ABCD I'S a Llll&dl’ilulcrul.

Diagonal BD pisects £B and ZD both.

Prove that :

(1) .i\ABD-‘-'ﬁCBD

(i) AB= BC
75, (A) Prove that 5—2\[3_- is an irratio

This section consists of 6 questions of

26.

(B) ABCD is a rectangle formed

is anirrational number.

OR

(B) Showthat the number 5x]1%
SECTI

(A) Find the ratio in which |

segment joining the points
ofy.
OR

G, 6)and D (3, -1). P, Q,

AB, BC, CD and DA l'L'ﬂI‘It‘-.'liV
Qiadrilateral PORS bisect cach of
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34, A) Ifaline i
‘. A |IIH 15 lh';]“r:l 'i1:||-;!.]|L'\ 1o one side al i “.-l,."_”,h_. 0 1I1|CT‘5{-'-C'

the n'l_h-,-l two sides in distinct points, then nrove that the other
two sides are divided in the same ratio 5
OR

(B) In the given figure PA, QB and RC
are each perpendicular to AC. If
AP =x, BQ=Y and CR = z, then

1 1

prove that l- b — ==
b < z b

A pole 6m high is fixed on the top of a tower. The angle of elevation
of the top of the pole observed from a point P on the ground is 60"
and the angle of depression of the point P from the (O St ein,
45° Find the height of the tower and the distans
foot of the tower. (Use ¥/3 = 1.73)
SECTIO
This section consists of 3 Case-Study Bas
36./ A rectangular floor area can
completely tiled with 200 squars
tiles. If the side length of each tile
increased by 1 unit, it would taK
only 128 tiles to cover the floor.
(i) Assuming the original leng
each side of a tile be x 3
make a quadratic equation
the above information.
(if) Write the corresponding qus
(iii) (a) Find the value of X3
factorisation.

OR"

(b) Solve the quadratic equaii
BINGO is game of chance.
The host has 75 balls
numbered 1 through 75. Each
player has a BINGO card with

some numbers written on it

he p:—iliiL‘imm cancels the number on the

at random.

Jber written on the ball selected -
O and wins the®

Ul

he numbers on his/her card, says BING

S
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The table given below, g - da
48 balls were usec v shows the data of one such game WhHere
—_ i~ u."\'.‘ﬂ’l hL'I[i'I]'L\ ]:"" H;llld '1“5”‘4( |l: ]I.
__Numbers announced | Number of times
_0-15 _—
e — ]—ﬁ_“] §]
- 45-60 12 o

L e 9

Based on the above information, answer the following :

(1)  Write the median class.
(ii) When first ball was picked up, what was thess
calling out an even number 7
(iii) (a) Find median of the given data.

OR

(b) Find mode of the given data.

38. .~ A backyard is in the shape of a triangle ABS
AB=7mand BC=15m. A circular pit wa

touches the walls AC, BC and AB at P; &8

that AP =xm.

—~15m —

—

Based on the above information, answer the follo
(i) Find the length of AR in terms of x.
(i) Write the type of quadrilateral BQOR.
(iii) (a) Find the length PC in terms of x and hence fing
of x

OR

(b) Find x and hence find the radius r of circle
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